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Puzzles - 

Milk Celebration Day Activity Guide

Math Decoder A 
Work out these problems and use the letter given  

with each of your answers to solve the riddle.

	 5312 ÷ 8 = ________ = M	 41 x 222 = ________ = T

	 3540 ÷ 6 = ________ = S	 12 x 24 = ________ = R

	 18 x 71 = ________ = E	 952 ÷ 68 = ________ = P

	 1584 ÷ 4 = ________ = I	 780 ÷ 12 = ________ = A

	 180 ÷ 9 = ________ = D	 35 x 15 = ________ = B

	 17 x 16 = ________ = U

What did the cow say to her calves at 9pm?

_____  _____ ’ _____    _____  _____  _____  _____  _____  _____  _____ 
 396   9,102  590      14    64    590  9,102  272    288  1,278 

_____  _____  _____  _____  _____  _____  _____ 
 525  1,278  20  9,102  396  664  1,278 

Hard


